==
N = 0] &F AF S & AN A
SN SEXNED
M =EoINSY
ool sEX TR NALE (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
sSZE X 4,556,014 4,150,548 405,466
= 858,890
Xl 75,000
= 282,936
= 3,339,188
sEQE Y 4,346,690 3,976,284 370,406
= 858,890
Xl 75,000
= 282,936
= 3,129,864
SENESHE X235 978,115 304,638 673,477
= 17,060
== 10,000
= 951,055
Hetol=2=serets &) 29 28,000 28,000 0
201 gBt2Ay| 4,000 4,000 0]
01 AP 2t 2| H| 4,000 4,000 0
< dBtL2H| > 0
o HEoRsouys A 22 P
50,000 = 80& 4,000
206 M = Hl 16,000 16,000 0
01 X2 H| 16,000 16,000 0
o etz =sgutets &I A2 X ME
200,0008 » 5= 1,000
o SEAMZE EEXEZ X Mz #¢
1,000,000& * 10= 10,000
o SFEZA MAl ME 2 500,0008 * 105 5,000
301 et A= 8,000 8,000 0
09 HAIAHI BEAZ 8,000 8,000 0
o HEDIRS ALY S4SMS EE 24
100,000& * 10& 1,000
o [etll==gerets A4 Ha=2
0,000& = 80H 4,000
o SFESA MAl I BEAZ
120,000 = 5% x 5 3,000
Hetol=2=etets] &I AR 20,000 14,500 5,500
= 10,000
= 10,000
201 2t Ay 20,000 14,500 5,500
& 10,000
= 10,000
03 Al A H| 20,000 14,500 5,500
o (etl=2=Herets AL X&
20,000,000& * 13| 20,000
& 10,000
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SN sEXRD
HH: mEoIERY
Cel: EENGCAY AL CEEEED
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
| = 10,000
sEXNTI|E &= 827,889 189,520 638,369
101 Q121 H] 37,263 34,474 2,789
04 JI2ZtHIZ22NEE S 37,263 34,474 2,789
o BAAY ¥ NESIEX
48,6403 « 3 x 2282 33,270
o AUBE = 33,270,000 * 12% 3,993
201 et d| 47,626 44 646 2,980
01 AP 2t 2] H| 27,626 24,646 2,980
< B ZH| > 0
o sEXNTAY BEDA M
13,000& * 2008 2,600
o NEAY EEANZ M 10,000& = 5008 5,000
o ANEANY =X HEEE M
3,021,000& * 1= 3,021
o SgogH 29 ARE 3,200
- EY 250,000 = 7JH 1,750
- SAE2X 25,0003 = 22t A « 1000 & 500
-SEX Y HASE S
9,500& * 105 * 1094 & 950
o Dol AAY B2
163,000 = 5004 = 12& 9,780
< Z2gkH| > 0
o sEXNZAY €2 =&
7,0008 x 5% *« 115 4,025
02 Z2=2=24%4| 20,000 20,000 0
< AEEH S XY > 0
o sHI)|IsHEH SFEAAE 2 HH AL
400,000& = 50 A = 10€ 20,000
202 04| 11,400 12,400 A 1,000
01 2L Y| 11,400 12,400 A 1,000
o UH YEHINNE P2 £
20,000 * 5% x 84 8,400
o SENCAY I8l £
20,000 = 3% = 50 3,000
203 €2 F=&d| 2,000 2,000 0
03 AIZH =& 2= XY 2,000 2,000 0
o =Ylla(sEXNR)YLR X
500,000& * 42| 2,000
401 AlEHIZL £ 0HY| 729,600 76,000 653,600
01 Al& H| 729,600 76,000 653,600
o H ASANEE 22X HL
394,800,000 * 1A 394,800
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SN SEXNED
M =EoINSY
ool sEX TR NALE (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o DUSHHAHE FX 00
334,800,000 = 100 A 334,800
ASHP XA BEH 28t 30,000 30,000 0
202 O4dl 4,000 4,000 0
01 = LH 4 1 4,000 4,000 0
o MZQTEX WS Y M0
200,000& = 10¥ « 23l 4,000
207 A O H] 26,000 26,000 0
03 Al & 1 HI 26,000 26,000 0
o ME0R ANENR 2Y
130,000& = 20& * 103l 26,000
s¥se sgadEsr 23 38,106 8,000 30,106
101 @124l 30,106 0 30,106
04 JIZHHZ2XNESE S+ 30,106 0 30,106
o sgod 20
60,0008 = 2H » 23 * 8 22,080
o =i ¥ X =¥
60,0008 * 2 * 58 « 8 4,800
o 4 BEE 26,880,000& * 12% 3,226
201 Let24E] 8,000 8,000 0
01 At 22l 6,000 6,000 0
< LBh=2Hl > 0
o sYoIAgARY ANRERE 7Y
150,000& = 4042 « 102 6,000
02 =24l 2,000 2,000 0
< AEEUIRXH > 0
o MAEH ¥ AIRA AIEFEH |X2te
100,000& = 4014 « 53 2,000
S&¥II=XE g3XE 5,800 6,000 A 200
= 2,900
i 2,900
201 ¢4l 5,800 6,000 A 200
= 2,900
s 2,900
01 At 22l 5,800 6,000 A 200
< dptx=24l > 0
o sEMNENPEHS} NE =25 72
290,000& = 10& 2,900
= 1,450
[ia 1,450
o sEMEMNY EENE EENE A
1,450,000& = 23] 2,900
= 1,450
[ia 1,450
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2N =&
=

M =EoINSY
ool sEX TR NALE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o MEds(2Mg) u=s 4,000,000& » 14 4,000
= 2,000
i 2,000
o Hstztel 2l WE 600,000& = 19 600
= 300
i 300
o XHEE W=H 200,000& = 209 4,000
= 2,000
[ia 2,000
=sZZIEBSAA 130,020 32,020 98,000
= 13,020
= 60,000
s 57,000
NEES sHII=d 235 d&EXA 8,000 10,000 A 2,000
= 4,000
s 4,000
101 @14l 8,000 10,000 A 2,000
= 4,000
s 4,000
04 JI12ZtHZ22HEE = 8,000 10,000 A 2,000
o N9=gJl=dE MBS &
8,000,000& * 1Y 8,000
= 4,000
[ia 4,000
FESNEEEY 6,500 6,500 0
201 Let2d] 6,500 6,500 0
01 At 22l 5,300 5,300 0
< YpragHl > 2,300
o FESWE WMPY
20,0003 = 20¥ = 3& 1,200
o FESUSHE 2E ARES 7Y
50,000& » 228 1,100
<2d=E > 3,000
o HESUE TAsE 200,000& = 153l 3,000
02 =24l 1,200 1,200 0
<SS sZHAM > 1,200
o YBHRLSH AHY ABE ¥ 22t
100,000& * 128 1,200
SMSASZA 24 2,520 2,520 0
= 2,520
202 O4dl 840 840 0
= 840
01 = LH 4 Hi 840 840 0
o SNMEBASIA 2248 0l
20,000& = 21=2Jt = 23l 840
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==
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= _ — d =
SA - BB B () - MM - BES Ol &t o e
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301 L2 LS 1,680 1,680
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11IIEBEAS 1,680 1,680
o SMEASIAMN B4 It AHHS
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st Bl 84 a3 3,000 3,000
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201 LB-2E| 2,000 2,000
= 1,000
s 1,000
01 At 2t 2l 2,000 2,000
< LBh=2Hl > 0
o stZEE HEE WS WA
15,000& » 1008 1,500
= 750
i 750
<egsg > 0
o sI3dF ZLE uNE Mg
250,000& = 29 500
= 250
s 250
202 Oddl 1,000 1,000
= 500
s 500
01 = LH 4 bl 1,000 1,000
o ZFIH &E oyl 20,0003 = 259 » 29 1,000
= 500
[ia 500
MOIH=EQl e-HIZLIA ASEE XA 10,000 10,000
= 5,000
[ia 5,000
201 Let2d] 8,200 8,200
= 4,100
e 4,100
01 At 22l 8,200 8,200
< YEt=2Hl > 0
o e-HIZE2LA WS W M
300,000& = 103l 3,000
= 1,500
s 1,500
o e-HIZELA N =23 170,000& * 103l 1,700
= 850
[ia 850
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5,000,000& * 2CH 10,000
-2 237 =t 72¢ 2,000,000& ~* 8K 16,000
- RIE #¥)| S 3,500,000& * 4CH 14,000
- ZXNIHEII(HE) 19,000,000& * 1CH 19,000
- ZNIEI(L2E) 15,000,000& * 1CH 15,000
o fddste AdU=sIIAH +L
50,000,000& = 1JH A 50,000
= 25,000
= 7,500
[ia 17,500
sIH s =4 8,000 48,000 240,000
2 4,000
i 4,000
201 L4l 5,000 2,000 3,000
= 2,500
s 2,500
01 At 22l 5,000 2,000 3,000
< Zeh=ZHl > 0
o SIHAEOEWNF Wi ME
16,000& * 125¥ 2,000
= 1,000
s 1,000
o SIAAEOIELSE =82
150,000& * 205 3,000
= 1,500
[ia 1,500
301 et a3z 3,000 2,000 1,000
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2N
X ZH -
L= B

el

= - — SHE]|
A =8B (3) - HRAY - BES Ol &k o8 il HlnE2
= 1,500
s 1,500
09 HALAHIEA S 3,000 2,000 1,000
o SJHSEOZ2LSE dUETZNSE FAEH
50,000& = 609 3,000
= 1,500
[ia 1,500
JIH=sls2l MW= 6,100 6,100 0
201 L2l 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
< o=dl > 0
o sJH=2d FHs L otdg 2
100,000& * 53 =« 43| 2,000
202 odl 2,000 2,000 0
01 = LH YI 2,000 2,000 0
o sJAzs=sel EF FA
20,0003 = 2% = 50¢ 2,000
206 = Hl 2,100 2,100 0
01 MHZ 4l 2,100 2,100 0
o I =3 AFWE WE
30,000& = 708 2,100
SIHLUHAE A &4 X 1,233,850 1,200,000 33,850
= 500,000
< 150,000
[ia 583,850
401 Al BIZ 201 8] 983,850 950,000 33,850
= 375,000
< 112,500
[ 496,350
01 A& HI 975,850 942,000 33,850
o SIHYUHAMSE L 24 AS2X W
233,850,000 * 1004 233,850
o SIHHYUHAS A 22 AF
700,000,000& * 1004 700,000
= 350,000
= 105,000
s 245,000
o SIIHYUAMEL 2L AF SHES
42,000,000& 42,000
= 21,000
< 6,300
s 14,700
02 Zeltl 8,000 8,000 0
o SIHYUHAME A 24 A5 Zelsd
8,000,000 8,000
= 4,000
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SN SEXNED
M =EoINSY
@ SEI=XE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= T,200
s 2,800
405 RHoHE S HI 250,000 250,000 0
= 125,000
< 37,500
s 87,500
01 AL EZFH S 250,000 250,000 0
o SINYUAYA 24 AUSIIH L F
10,000,000 = 25CH 250,000
= 125,000
< 37,500
[ 87,500
SIHLUAISE A2 =4 23 68,184 0 68,184
101 1244 Hl 16,944 0 16,944
04 JIZHHZ22XREE S 16,944 0 16,944
o S| UMY 29 2X AR
48,6403 * 18 = 311 15,128
o AUHEER= 15,128,000 * 12% 1,816
201 Let24E] 38,000 0 38,000
01 At 22l 3,000 0 3,000
< LE=2Hl > 0
o AUAMYE SEXNZE MZF 3,000 = 1,0008 3,000
02 2324l 35,000 0 35,000
< AIEEUIKXH > 0
o AU=IIH =8l 300,000& * 100CH 30,000
o YUAE A =clEH A28 &€ 7
200,000& » 25& 5,000
202 044l 2,240 0 2,240
01 = LH o4 1l 2,240 0 2,240
o SIHYUAMYE 28 22 =&
20,000& = 2H = 56 2,240
405 RHoHE S HI 11,000 0 11,000
01 AL EZFH S 11,000 0 11,000
o SIHYUAMYE 28 =357 11,000
- AYHE My 400,000& = 54 2,000
- HYE X 300,000& * 504 1,500
- HHIR 300,000& = 54 1,500
- IIs= A 5,000,000& * 1CH 5,000
- WA 300,000& = 1CH 300
- @M AIEDI 700,000& * 1CH 700
BHSAHU (SEXNRD) 209,324 174,264 35,060
ol 2 gl 61,375 54,816 6,559
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2N sEXNAAL
B HENSAAY (SENAD)
chel: ol gyl CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
ol 2AH| 61,375 54,816 6,559
101 2121 4| 61,375 54,816 6,559
01 B2 61,375 54,816 6,559
< =g > 0
o ANZ2HAZ2RFY
9,742 x 21H = 25A12F = 12& 61,375
| &2 Z& I 147,949 119,448 28,501
Jl23Hl 147,949 119,448 28,501
201 LBt Y| 134,149 105,648 28,501
01 At 22l ] 39,556 29,096 10,460
< gBt=ZHl > 0
o ZZIE El ¢ 250,000 * 4CH * 63 6,000
o EAI EY WE 300,000& = 2CH = 33 1,800
o EAEX 25,000 * 208FA « 128 6,000
o AIRA 829 ARE 2 250,0008 *x 10 2,500
o A2 =& 7Y 10,000& = 2004 * 12& 2,400
o #ETY W DESHEH L2l
350,000& = 60H 2,100
o N2 R=s2 2,880
- S2X 18,000& * 582 * 12& 1,080
- X &X 10,0008 * 1582 = 12&€ 1,800
o MJ|otM2e B2H 673,000& = 12& 8,076
o oML S 650,000& = 12& 7,800
02 3s2dH| 94,593 76,552 18,041
< SS2aZHA > 0
o MolEE AIEE 600,000& = 12& 7,200
o PN 22 200,000&¢ = 23| 400
o AMRA NI 2,800,000& = 12& 33,600
o XI| HIIEAN =2 500,000& * 13 500
< XHEHl > 0
o ZAEXNY FEU X2
1,333& x 1804 = 1104 ~ 12& 31,673
o &AZXE M x| 30,000& * 11CH = 12& 3,960
o AE2ZXY |A22l 124,000& * 11CH * 53] 6,820
< A& HEHIKXH > 0
o dJ| A2 49,000& = 104 ~ 12& 5,880
o HA AIEEH KX 380,000& = 12& 4,560
202 04d| 9,600 9,600 0
02 2 H0b| 9,600 9,600 0
o YoM AT MY
200,000& = 4¥ * 12& 9,600
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2N sEXNEY
MY #FHSAAH (SEXNED)
& 123l
x = - 4 14
SN P SA(EN) - MBAY - BES 0] &k o4 e
203 R =&t 4,200 4,200
04 FN2ELSZ=TH 4,200 4,200
< 309! 0Iat 350,000& = 123 4,200
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